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lbE 32090 * 45,000m * 33| 43,200 14,400 28,800
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2zt ,827,602 4,637,590 3,190,012
= 500,000 0 500,000
& 50,000 50,000 0
Al 7,277,602 4,587,590 2,690,012
E2EH & RAEF 2,849,374 2,508, 150 341,224
AEHI &2 2,748,044 2,406,820 341,224
A& HI 2,738,360 2,398,360 340,000
ORXNES At 2,690,000 2,350,000 340,000
O&2F XN E=H| 2,690,000 2,350,000 340,000
-OtAZE ANES 400,000,000& 400,000 300,000 100,000
=2 E2Y% EA)| 200,000, 000& 200,000 100,000 100,000




2N
X ZH -
L= B

el

B ALush
o DELAES e TADIEEY
Zatel

SAH-AH -2 (SA) - HREAY - BES Ol A o4 IR Husz
-SAENXE AT R CCTVA X
20,000,0008 * 204 A 40,000 0 40,000
2SR/ NES 650,000,000 650,000 550,000 100,000
03 Al& 2 H 9,684 8,460 1,224
OZZ2EH L RAUELAY =X 9,684 8,460 1,224
OZZ2RXNELAIY =& AL 204
2,690,000,0002 * 0.36% 9,684 8,460 1,224
Y L A2 g2 485,660 485,010 650
201 LEr2 A H| 19,130 18,480 650
02 B2 ZH| 17,090 16,440 650
Gy =1 790 540 250
OMA DI FLLATEX SRS
50,0009 » 5% 250 0 250
oOFMIR2 5,800 5,400 400
OMNADIF SEATEI IS
80,0002 * 5% 400 0 400
Zol=2AAY 3,888,068 1,543,530 2,344,538
401 AlEHIZ 20 3,888,068 1,543,530 2,344,538
01 Al&HI 3,877,937 1,534,256 2,343,681
FOI=2AAS 3,797,937 1,454,256 2,343,681
OftEE A2 01C FH| 2 AH(L=60m, B=1.8
m) (2016 EHXXMILEZ) 20,000,000 20,000 0 20,000
Od3lE 020l E57Y 0NyEEX Z&Z
AH(L=100m) (2016 EEXHDEI)
40,000,000 40,000 0 40,000
OMES ZHA226812 0 T FH| 3 AHL=142m,
B=3.0m) 42,000,000 42,000 0 42,000
O2EsS 2XMC2 83 & AY (L=500m, B=
24m) 290,000,000 290,000 90,000 200,000
O2EE 1282 KT"2AHR2 B HHI2A
(L=1,000m, B=4.5m) 300,000,000 300,000 0 300,000
ONBZ(HAS 78-1 ~ 688X )2t EC F
HI = AH(L=650m, B=4m) 180,000,000 180,000 0 180,000
OH=22| 128HXN T2 M2 ZAHL=400
m, B=5m) 42,000,000 42,000 0 42,000
OAlS22|~H 42| 2t AT 2 LA ZAH(L=40
Om, B=3m) 40,000,000 40,000 0 40,000
OAS 1,22 MU & XIZAH(L=75m, B=9m)
250,000,000 250,000 0 250,000
OJI=d mak L2t X2 AHL=92m)
25,000,000 25,000 0 25,000
OXEs 2ER[337HA(DIBA M) &2
HI = AH(L=280m, B=4m) 24,000,000 24,000 0 24,000
O1asZ2 (S AMHEI~ AL S=0IHE)otA R
%M 2 J| 2 AH(L=800m, B=25m) 400,000 0 400,000

400,000,000&




2A: NP ALDEN
HM: X9 PEHLHEES A& TAIIEEA
o9 T2z (&9 &)
SAH-AH -2 (SA) - HREAY - BES ;] Fat el Iy H Hns2
Q22 (MZ0W~II0t&Hel)otAZE T M
2| 2 AH(L=1,000m, B=26m) 400,000,000 400,000 0 400,000
OZA=E 159 ~ 161X S LA AHL=]
70m, B=3m) 30,000,000 30,000 0 30,000
OAMEE AI2R2 20 22 T2 QNI AH(
L=340m, B=9m) 64,000,000 64,000 0 64,000
O E SNHIZ DM R 2 AHL=176m, B=
16.0m) 150,000,000 150,000 0 150,000
O0l® 22=32| i = H|ZAHD1,200m/m
L=100m) 40,000,000 40,000 0 40,000
OB & stA12] 2 1A sS2IEZAHL=270
m, B=3m) 33,000,000 33,000 0 33,000
OFAUSAAY AALH2A
3,752,000,0008 * 3.09% 115,937 52,256 63,681
03 Al& 2 HH 10,131 9,274 857
O=0I=2AANY =X 10,131 9,274 857
OFQUSRAAY FE AL LU
3,752,000,000! * 0.27% 10,131 9,274 857
£22, PEMR OIAZ IMRI|BAH017E SE 503,600 0 503,600
nEA)
= 500,000 0 500,000
Al 3,600 0 3,600
401 Al&HI 2 200 503,600 0 503,600
s 500,000 0 500,000
Al 3,600 0 3,600
01 Al&HI 500,000 0 500,000
222 PEAR OFAR AN ZAHL=1.4k
m, B=13~20m) 500,000,000 500,000 0 500,000
= 500,000 0 500,000
03 Al& 2 HH 3,600 0 3,600
222 PEAR LA LN ZA AIER
]| 500,000,0008 * 0.72% 3,600 0 3,600
T Matel Mzs 2y 941,912 489,720 452,192
T - XHeH ol 364,137 63,887 300,250
M L xish el 64,137 63,887 250
201 L2 43,595 43,345 250
01 At 2t2l Y| 2,420 2,170 250
OTHGHCHE HIA2RI SAH
8,000 * 3% * 50Y 1,200 1,050 150
ONMUEZE A s 22K S|
8,000 * 2% * 50Y 800 700 100
2D B4822A 300,000 0 300,000
401 Al&HI 2 200 300,000 0 300,000
01 Al&HI 300,000 0 300,000
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Eelr W THoh ol
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SN SAGEA) - MRALY - BES 0l &k o4 0% o Hl D&
ONZ2w B2 3AH2016E SEWRA)
300,000,000& = 14 300,000 0 300,000
ot& - Hi=AlE JHH 577,775 425,833 151,942
AoHE FHIALY 303,905 161,963 151,942
401 AIEHI L 2CHEI 303,905 151,963 151,942
01 A& HI 301,961 161,063 160,898
Oatdtel Aot ZHISAE  45,000,000& * 14 45,000 0 45,000
OZSA0E NedsZ ZISAM
50,000,000 =+ 14l 50,000 0 50,000
ORX=EA0HE FHISAM 50,000,000 = 14l 50,000 0 50,000
OZcte FHIAMY AAMEHES
270,000,000& * 4.43% 11,961 6,063 5,898
03 Al 20 HI 1,944 900 1,044
OZotd UMY & X2l AIER20H]
270,000,000& * 0.72% 1,944 900 1,044
HE2AIH (MR HEDWED) 273,193 271,241 1,952
el 2l 209,207 208,767 440
ol Al 209,207 208,767 440
101 1Al 209,207 208,767 440
03 I AHA22RHE 209,207 208,767 440
OS2t =g 3,520 3,080 440
OusgdHel 8,000& * 60 * 4H 1,920 1,680 240
O H SH CH 24 8,000& = 50 * 43 1,600 1,400 200
Jl=Zdl 63,986 62,474 1,512
Jl= 34 63,986 62,474 1,512
201 Let2dE] 37,046 35,534 1,512
01 AFR 22l 28,877 27,365 1,512
OJIEZ Ul (S&Hl) 12,096,000& 12,096 10,584 1,512
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